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WatHE=E (1 Sv/h)

NO | #HXBFS REEHRS 1 KiglgE =E5
cm 50cm 1.0m

1 A—4 BHARI#AO 0.23 0.23 0.21 BEh

2| B—3 [MIAMKIEE 0.15 0.14 0.15 BEh

3 B—4 |E/RI{ETA 0.20 0.15 0.13 BEh

4 B—5 |HHBLAERLE 0.11 0.11 0.12 BBh

5 B—5 |AthdhAREE 0.13 0.11 0.11 Eh

6] B—5 |RIR(ER){iA 0.11 0.11 0.08 BEh

7 B—5 [X(HEp){HE 0.14 0.12 0.11 Eh

8] B—5 |[FEXE 0.10 0.09 0.08 BEh

9] B—6 |THHALARSE 0.10 0.10 0.08 Bh
100 B—6 [TFHJIHHE 0.08 0.08 0.07 BEih
11 B—6 [#EERSEDO (FEO) A 0.09 0.09 0.09 Bh
12| B—6 [dEfMHAE 0.08 0.09 0.08 BEh
13 B—6 |dUgifhia 0.10 0.09 0.09 Bh
14 B—6 |FHABHE 0.20 0.15 0.15 BEh
15 B—6 |E/RAREER] 0.16 0.13 0.11 Eh
16] B—6 |XRZT|EEFA 0.10 0.10 0.10 BEh
17/ B—7 |/NEAEFHIERE(EXRAENE ) 0.10 0.10 0.10 B
18] Cc—3 [FARMEAO 0.15 0.15 0.15 B
19] C—3 |$/Ar=&Hith AOfHix 0.20 0.18 0.14 BEh
200 Cc—4 |EBEOLU#A 0.15 0.13 0.12 Bh
21 C—4 |FHEX(BFHMEE R 0.11 0.10 0.09 BEih
22| C—4 [FBARBfHE 0.19 0.13 0.12 BEh
23] C—4 [PARFTU—2EHIU(RE) (1) 0.09 0.09 0.09 B
24| C—5 [BEENERfE 0.10 0.09 0.08 BEh
25| C—5 |RILEMFE 0.11 0.10 0.09 BEih
6] C—5 |K£i7 0.13 0.10 0.09 BEih
27l C—5 |TFEEHNA 0.18 0.13 0.12 BEh
28] C—6_ [5OFEAE 0.12 0.10 0.08 BEih
29] Cc—6 |EIHALNEREER 0.10 0.10 0.09 BEih
300 C—6 [HBIIIZXHE#HADO 0.14 0.13 0.12 BEih
31 C—6 |HBluIT EMhEeKithErEEE 0.35 0.20 0.17 BEh
32l Cc—6 [LATULAER 0.13 0.10 0.10 BEih
33] C—6 [#MEHIG{HE 0.12 0.12 0.10 BEh
34| Cc—6 |[FEIIEEEEIFEBBZTH 0.09 0.08 0.08 BEih
35| C—6 |IUTREEIUE 2—(EAH) 0.08 0.07 0.07 Bh
36| C—6 |[IUTESZERKAREL 0.22 0.16 0.12 BEih
37] C—7 [N\ AVED 0.10 0.10 0.09 ED)
38] Cc—7 [XKEABE(E) 0.08 0.08 0.08 BEih
39] c—7 |/MNHERZLERK 0.12 0.11 0.09 BEn
40 C—7 |EBFEEERIEM{A 0.11 0.11 0.09 BEh
41 C—7 |CEBEEAmMAfTa 0.10 0.09 0.09 ED)
42| C—7 |[HIUEEMHE 0.12 0.12 0.12 BEh
43| C—7 |EchEih(EiEF15) 0.13 0.12 0.11 ED)
44| C—7 | KFHBHITEFRFA 0.13 0.13 0.13 Bh
45| C—8 |BER(HFE) 0.11 0.11 0.09 ED)
46 D—2 |IBYY)—rrykCcCAO 0.13 0.13 0.12 BEh
47 D—3 PRFER 0.15 0.12 0.13 BEh
48] D—3 |HEAEREfEFHA 0.13 0.12 0.11 BEn
49 D—4 |SB(GER) ik 0.12 0.10 0.10 BEh
50 D—4 |[EAB/AMKA 0.14 0.14 0.14 BEh
51 D—4 |EBPXKLESE 0.13 0.11 0.11 BEh
52| D—5 |FHhEEiE Lt 0.22 0.15 0.14 BEih
53] D-—5 [REE/MVER (BIEIZHEI) 0.10 0.09 0.07 D)
54| D—5 |BENREEH] 0.14 0.11 0.11 Eh
55| D—5 |[IBEMANAEREEH] 0.13 0.13 0.13 BEn
56 D—5 |BE/BAOfHA 0.11 0.10 0.09 Bh
57 D—6_ |IFARYINISUK 0.11 0.11 0.11 BEh
58/ D—6 |[BFH—TU2E 0.07 0.06 0.06 BEih
5] D—6 |[EFirOE#A 0.13 0.11 0.09 BEih
60 D—6 Hits A+Fi& 0.29 0.17 0.13 Bh
61 D—6 |hEEIGEHELA 0.28 0.16 0.14 BEih
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NO | HEES AEEHS —TRABRE (i 5v/n) XELE | WE
cm 50cm 1.0m
62| D—6 |FHEFEFBIS 0.10 0.10 0.09 Bh
63] D—6 |EmlU—1—4292 (NE) 0.13 0.11 0.10 BEn
64] D—7 |EBEAREFA 0.09 0.08 0.09 Bh
65] D—7 |LEEHERZIHEUIES 0.10 0.09 0.09 BEh
66] D—7 [/IEHEERH#RA 0.15 0.15 0.13 BEh
67 D—7 |2)lhiz 0.10 0.09 0.09 BEh
68| D—7 |ELILEE400mIESTiE 0.11 0.09 0.11 BEn
69| D—7 |FH#HEEERAO 0.13 0.11 0.10 BEh
70 D—7 | EHREAE 0.15 0.14 0.12 Bh
71 D—7 |Yv<IBIFEHTEFE) I 0.13 0.12 0.10 B
72| D—8 |FEJGHHE) 0.11 0.10 0.11 BEn
73 E—2 |FHEME 0.13 0.13 0.13 BEh
74 E—2 |E&FGERR 0.14 0.10 0.10 BEh
75| E—3 |BR/EDiigE 0.21 0.18 0.15 Bh
76| E—4 |[BEAREEH 0.10 0.08 0.08 BEn
77 E—4 |HER /IR /X REERI 0.12 0.11 0.11 BEh
78 E—5 |FRRALfHE 0.11 0.10 0.10 £1)
79 E—5 EIRAE{T I 0.12 0.10 0.08 BEh
80| E—6 [|—/X#A 0.11 0.11 0.08 Bh
81 E—6 | EEFFE=FIFET 0.12 0.11 0.10 BEh
82|l E—6 |/MNAEHISAMA 0.12 0.09 0.09 Bh
83| E—6_ | KBOEYISUE 0.15 0.14 0.14 BN
84 E—6 |B8ECGEFHZAAD) 0.11 0.12 0.13 =)
85 E—7 FIRIEIRBIE{A 0.19 0.17 0.17 BEh
86 E—7 RIS ATER] 0.11 0.12 0.12 £1)
87 E—7 |ERAREERI 0.09 0.09 0.09 BEh
88 E—7 |ERARERHFRME 0.15 0.13 0.11 B
89 F—4 |F/stfhix 0.10 0.11 0.12 BEh
90 F—4 |[HEMXEEL I—EHIGH 0.09 0.08 0.09 £1)
91 F—4 |HFREE AfEHE 22 2 —HI 0.12 0.11 0.10 BEh
92 F—5 [|EAMA#HA(R289H/5500m% LFHE) 0.16 0.13 0.11 ED)
93] F—5 |ZEARER 0.12 0.09 0.08 =)
94 F—5 [RBtE 42—ZREl 0.23 0.17 0.14 £1)
95 F—5 |ZIERAISERBISHA/0t0h 0.11 0.11 0.09 £1)
6| F—6 |&LEKHADO 0.11 0.11 0.10 =)
97 F—6  [FIEB#UEET FiR 0.12 0.10 0.09 =)
98 F—6 |[E&HF/N\RXEiHE 0.12 0.13 0.12 £1)
99| G—1 LELF (- XKE) 0.09 0.09 0.09 BEn
100 G—3 |FAEALEIEHIF 0.12 0.12 0.11 =)
101 G—4 |EEKRERSFEISRTR) 0.28 0.19 0.16 =)
102] G—4 |ZEREhE 0.11 0.10 0.09 =)
103] G—5 |IBEOEBHCRI—HSTEIEBHE 0.19 0.16 0.16 =)
104 G—5 UBIFLEEEHERE 0.07 0.06 0.05 =)
105 G—6 | KREBEEHM 0.09 0.09 0.08 =)
106] G—6 [EHFTFE 0.11 0.10 0.10 =)
107] H—8 |[HF~EHIE 0.11 0.10 0.09 =)
108] H—4 |EEECAIEILEZEES 0.09 0.08 0.08 =)
109] H-—5 |EMMETEBTAGEIITL) 0.17 0.13 0.11 =)
110] H—6 | KEHIFHhDE 0.10 0.10 0.10 £
111 1—3 Faoo o (Z) 0.12 0.11 0.10 £1)
112 1—4 BFaEIDVYHRTILAOMMGE 0.08 0.08 0.07 =)
113 1—4 BADE (W) 0.07 0.07 0.07 =)
114 1—4 BRORIr U IHAO 0.13 0.10 0.10 =)
115 1—4 IBAEHEBRH S AR R A5 m GKESA) 0.12 0.11 0.10 =)
116 J—5 |FRELEIHEIF 0.08 0.08 0.07 =)
117 K—3 BHFroRILAOETES 0.12 0.11 0.10 =)
118 K—3 BFWIWTE — - 0.02| 5/29(F&EHh)
119] K—3 [EHMEfhE — - 0.04] 5/29(FEh)
120 K—3 |XEREHIFFMA 0.11 0.10 0.10 =)
121 K—4 |ifz= — - 0.15| 8/30(F&h.)
122 K—4 |ifEE — - 0.04] 8/30(fFH)




